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cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

6.5

7

7.5

8

8.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

de
lta
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_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6408}
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cyclenum
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0

0.5

1
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Y

delta46_12X4eY:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

6406

6406.5
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6407.5

6408
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6409

6409.5

6410

ru
n

run:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

0

0.5

1

1.5

2

2.5

3

se
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t

segment:cyclenum {run == 6408}



6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1us
l_

1X
usl_1X:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
Y

usl_4eY:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
l_
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X

usl_12X:cyclenum {run == 6408}
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cyclenum
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6408
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6409
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6410

ru
n

run:cyclenum {run == 6408}



6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
r_

1X
usr_1X:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1
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r_

4a
Y

usr_4aY:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
X

usr_4eX:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1−

0.5−

0

0.5

1

us
r_
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X

usr_12X:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum
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6408

6408.5

6409

6409.5

6410

ru
n

run:cyclenum {run == 6408}



6178 6178.5 6179 6179.5 6180
cyclenum

30597

30597.5

30598

30598.5

30599

us
l_

co
il1

usl_coil1:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

4374.6

4374.8

4375

4375.2

4375.4

4375.6

4375.8

4376

4376.2

4376.4

4376.6

4376.8

us
l_

co
il3

usl_coil3:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

2701.2

2701.4

2701.6

2701.8

2702

2702.2

2702.4

2702.6

2702.8

2703

2703.2

2703.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

629.5−

629−

628.5−

628−

627.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

6406

6406.5

6407

6407.5

6408

6408.5

6409

6409.5

6410

ru
n

run:cyclenum {run == 6408}



6178 6178.5 6179 6179.5 6180
cyclenum

27142.5−

27142−

27141.5−

27141−

27140.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

5062−

5061.5−

5061−

5060.5−

5060−us
r_

co
il3

usr_coil3:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1443.5

1444

1444.5

1445

1445.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

204.5

205

205.5

206

206.5

us
r_

co
il6

usr_coil6:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

308.5−

308−

307.5−

307−

306.5−

us
r_

co
il7

usr_coil7:cyclenum {run == 6408}
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cyclenum
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6407
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6408

6408.5

6409

6409.5

6410
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n

run:cyclenum {run == 6408}



6178 6178.5 6179 6179.5 6180
cyclenum

456−

455.5−

455−

454.5−

454−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

56−

55.5−

55−

54.5−

54−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

2

2.5

3

3.5

4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

472.4−

472.2−

472−

471.8−

471.6−

471.4−

471.2−

471−

470.8−

470.6−

470.4−

470.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

68.4−

68.2−

4e
X
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l3

4eX_coil3:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

2

2.5

3

3.5

4

4e
X
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4eX_coil7:cyclenum {run == 6408}



6178 6178.5 6179 6179.5 6180
cyclenum

50

50.5

51

51.5

52

4a
Y

_c
oi

l4
4aY_coil4:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

25.6

25.8

26

26.2

26.4

26.6

26.8

27

27.2

27.4

27.6

27.8

4a
Y

_c
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l6

4aY_coil6:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

1.5

2

2.5

3

3.5

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

86

86.2

86.4

86.6

86.8

87

87.2

87.4

87.6

87.8
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88.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6408}
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cyclenum

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

4e
Y
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4eY_coil6:cyclenum {run == 6408}
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4eY_coil7:cyclenum {run == 6408}
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238.5−
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236.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6408}

6178 6178.5 6179 6179.5 6180
cyclenum

55.8−

55.6−

55.4−

55.2−

55−

54.8−

54.6−

54.4−

54.2−

54−

53.8−

53.6−
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X
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12X_coil3:cyclenum {run == 6408}
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cyclenum

5.5−

5−
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4−
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X
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12X_coil4:cyclenum {run == 6408}
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cyclenum
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0
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1
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X
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12X_coil6:cyclenum {run == 6408}
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cyclenum

3
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4
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5
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X
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12X_coil7:cyclenum {run == 6408}
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cyclenum
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ru
n

run:cyclenum {run == 6408}
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